
Prénom : ...................................... Date : ............................................................................ 
 

 

Les quatre opérations (01) 
 

1./ Pose en colonnes et effectue ces quatre opérations : 
 

 

2 357,5 + 7 862,8 = …………………… 

 

 

4 108,3 - 3 862,2 = …………………… 

 
 
 
 
 

 

 

357,5 x 6 = …………………… 

 

 

87,5 : 5 = …………………… 

 
 
 
 
 
 
 
 

 

 

2./ Pose en colonnes et effectue ces quatre opérations : 
 

 

7 459,58 + 12 655,05 = …………………… 
 

 

64 190,65 - 33 267,4 = …………………… 
 

 
 
 
 
 

 

 

4 870,5 x 96 = …………………… 
 

 

674,95 : 5 = …………………… 

 
 
 
 
 
 
 
 
 

 

 


